1. Suppose $2000 is invested at an annual interest rate of 5%.  Compute the balance after 10 years if the interest is compounded monthly.

2. Repeat problem 1, if the interest is compounded continuously.

3. Solve for x:    5  = e5x
4. Solve for x:   3 ln x = 2

Find the derivative for problems 5- 9.

5. f(x) = e5x
6. f(x)  = x2ex   
7. f(x) = ln(3x + 2)  
8. f(x) = ln (5x + 3)5  (use the properties of logarithms first, before you take the derivative)

9. f(x) = x ln (3x)   (Hint: use the product rule.)

10.   The population of a certain country grows exponentially.  If the population was 30 million in 2000 and 40 million in 2010, then what will the population be in 2030?

11.  A manufacturer determines that x units of a particular item will be sold when the price is p(x) =  200 – x ln x2 hundred dollars per unit.

Find the revenue and marginal revenue functions.
